IB Chemistry: Data & Graphing. Name:

Oxygen can be generated by the reaction of Hydrogen Peroxide with Manganese Dioxide.

2H,0; + MnO; —2H,0 + Mn + 20,

1. A chemistry class sets up nine test tubes and places different masses of MnOs in each test tube. An equal
amount of H,O, is added to each test tube and the volume of gas produced is measured each minute for five

minutes. The data from the experiment is:

 Tube# | MnO,(g) = Imin(mlOy) | 2min(mlOy) | 3min(mlO) | 4min(mlO,) | 5 min(ml Oy

1 0.1 1.4 2.6 3.5 4.2 5.1

2 02 2.8 4.6 5.8 7.1 7.6

3 03 4.9 7.2 8.8 ; 10.2 11.3

4 05 5.9 8.5 10.4 | 11.8 13.3

5 1.0 | 8.5 12.4 14.4 16.1 17.1

6 15 11.0 14.8 17.5 19.8 218

7 20 12.0 17.0 20.2 22.7 24.8

8 25 13.6 19.0 22.1 24.7 27.3

9 3.0 16.2 S 218 251 282 | 30.4
A. What volume of O, did tube #3 produce between the second and fourth minutes?
B. How much O, is produced in tube #5 during the first two minutes?
C. How much oxygen did tubes 7 and 8 produce together during the third minute?
D. What volume of oxygen gas, in liters, was produced during this procedure?
E. Graph the amount of oxygen produced each minute in test tubes # 2, 4, and 6.
F. By comparing the slope of the graph curves, which tube was producing oxygen at the fastest rate

between minutes four and five?
G. Make a graph using the mass of manganese dioxide and the volume of oxygen for all tubes at five

minutes.

2. 'The data in the table shows the age (in years), and the corresponding height (in inches), for a young man
from age 2 to age 19.
Age 5 3 ; 8 10 12 i T T it 19
Height 28 33 40 46 52 55 6l e 70 72 72
A. Construct a graph from the data in this question. Be sure to properly label your graph (title, axes,
measurements, etc.)
B. Include a trend-line showing the equation of the line and the correlation.
C. From the line, find the expected height of this man at the age of 13 years.
D. If the data was extended from 19 to 25 years of age, what would that data look like? How would the

line of best-fits change if a trend-line includes ages 2-25?




of
N

B

o

5

o

~d

o d P




(B) zounw

SE99'2 + (UESHOE = A

£686°0= 4
1269°G + (uizsy = A

ge € g2 14 S b G0 0
- : 0
® G
- 01
1£G6°0 = 4 3
ot -G
GESS'L +X82L1'8 =4 o —
0C o ¥ 0€ €
gz ™ €L7 ST
By 8T [4
860 = 4 0e 817 ¢l
96’0 =Y [965°S +XSYSEL + XepEs'|- = A S€ T11 ]
€18'61 + (X)uLgzz L =A €€l )
ulw G je gouw wody uononpoud Zo =TT <0
9L 0
['c 10
(somnurw) swn
S ’ c 5 ' ¢o (8) touw
—— . [w) unw g
chclnﬁu
F S
——
o 2
- Q
st Q
. £686'0 = ;4 _. 0z 81T 861 S'L1 8Vl [ ST
FVOES BRI 0009 = A el | 811 | ol '8 6 )
ot 9L 'L 8¢ 9% 8°C 0
‘o ‘o o o o (3) Toul
COUW woyy uononpoud uabAxp 1) unu g | ) upw p | ) unu g | ) uno g f ) g




(s1eak) abe
02 Gl oL 0
0
ot
o¢ W
(1bieH) “Ajod —— | 2.
0 2
(ybreH) 60— =
(1uB1oH) Jeour] — oY 5
WybloH o - 0S >
09 &
0L
1012’6 + (X)UT26002 = 08
obe sa 1ybioHy
L 7L oL 9 19 S¢S S ot ov €¢ 8T B1Y
61 3 Ll ST 1 Z1 01 8 9 € ré ady




